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COMMERCE
(Honours Generic)
Answer the Questions from any one Option.
OPTION-A
Paper : COM-HG-3016
( Business Statistics )
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the guestions.

Answer Question Nos. 1, 2, 3 and any four
from the rest.

1, 2, 3 7 o%F GG [ WF P! LRI A1
Rizwican sifd6i9 &7

Answer either in English or in Assamese.
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1. (a) Select the correct answer : 1x4=4 (c) origin and scale

wg Teq fRdion <= ¢ TR e WY
(i) Sum of the squares of deviations

of the given set of observations (d) None of the above

from their arithmetic mean is @Tq I8 W=
ATE NI SRR NG 7} [oow@sw (ii) Seasonal variations are
R TR | Ay ATl (TR
(@) maximum (a) short-term variations
Teoew EXSOGICASIES)
(b) minimum (b) long-term variations
Gigion| IRE IS IESIO)
(c) zero (c) sudden variations
v Pl (I S
(d) None of the above (d) cyclical variations
89RT OIS N T SRS
(i) Standard deviation is dependent (iv) Coefficient of variations is
on the change of | calculated by the formula
s Rowwt s iR @oR® Hewler? Ro< QAT 1N A A T
(a) origin | X
TR @ 5
o
(b) scale (b) -5C_-x100

GIS
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(b)

(c)

- |
—x100
() %
(@ o’
Fill in the blanks :
e 91F ST ¢ .
(i) An index number is a special type

1)(3:3

W@Wﬁmﬁw_|

(i) Correlation coefficient is

of two regression coefficients.
TTEE QAT (R TNEY BT BIg
|
(iii) If A and B are mutually exclusive
events, P(AﬂB)= .
M A wie B iy Rafdre <om1 =,

o8 p(ANB)=_______|
Write True or False :
G (=T ferdl ¢
() An average alone is sufficient to

understand the basic characteristics
of a frequency distribution.

<t RIS Reemw o1 RRBER &
ARCA 5 BIg AT |

() Mean of binomial distribution is
always greater than variance.
o7 3BT Ty LPRAST SMIT ©IeA |

1x2=2
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2.

(@

Answer the following questions :

What do you mean by sample ? 1

aiford e & 3812
2x5=10

oS al e Tes o g

(@)

(b)

(c)

(@)

(e)

What is estimation ?

e 2

Write two properties of correlation
coefficient.

S el 7or & T

Two regression coefficients in a
distribution are calculated as -1-89 and
_0-52. Is it possible ? Justify your
answer.

51 ROEAR O TR @dics SfSelem IR
—1-89 ©I% —0-52 (AR 57’ | G2CB1 ST T ?

oI Tew IETFel A

Find E(X) for the following probability

distribution of X :

x 3 AxfiRe TR 5| IR E(X) RE

43 '
X: 0

1
. 3
P: § %

w

®jw N
00—

Define skewness.

s ikl |
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3. Answer dny four of the following questions :
sx4=20

) R o eme Tl frl 8

() What is sample survey ? Write the
advantages and disadvantages of

sample survey.
oo s foe elford TR TR

SPIRAIRR 7l |

(b) Prove that the expectation of a random
variable x is equal tO the arithmetic
mean.
AN T @, B o G x T NS ereppy
GO TR T I |

() Discuss briefly various problems

involved in the construction of index
numbers.

ST < |

Given the two regression equations as
follows :

4x-5y+33=0 and 20x-9y-107 =0

Find the correlation coefficient between
x and y.

TR e 51 wer TR (Reics e ¢
4x~-5Yy+33=09F% 20x -9y -107=0
X % y I TS AP QN i1 |

(@)
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(e) State the additive law of probability and
explain it with an example.

AEIRER @IS S@EY I o 9ol
SRR G ¥4
() What do you mean by correlation

between two variables ? Mention
different types of correlation.

7! eI el TTes I & g e [few
DI TR B 9 |

A study of 100 companies gives the
following information :

100 B @Y RE i IR wog sYREA
colil ova ¢
Profit (¥ in crore)  : 0-10 10-20 20-30 30-40 40-50 50-60
e (@ Here)
Number of companies: 8 12 20 30 20 10
@I A

Calculate mean and standard deviation
of the profit earned. 34+3=6

T wAret WY IR WS Koo R[efar =11

Mention the desirable properties of a
good measure of dispersion. 4

45t O AT Mo IR (@R S
i

(b)
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(@)

(b)

(@)

(b)

" Y: 9 4 6 9

Find the coefficient of correlation
between X and Y from the following
data : 6

oo fral SARIRE o X % Y e AT
el Fefa =t ¢

X:10 6 9 10 12 13 11 9
11 13 8 4

What is a regression line ? What

purpose does it serve ? When are the

two regression lines identical ?
2+1+1=4

ST e R R Ol I T 2 TR
W MO (ol @i B ?

What is g binomial pI’Obability
distribution ? Mention the properties
of this distribution. 2+4=6
faom STsifvel 75w 7 @ 3B SITIR S
1

In a business a person can make a
profit of ¥ 2,00,000 with a probability
of 04 or have a loss of ¥ 1,00,000 with
a probability of 0-6. What is his
expected profit ? 4
G TRPITS o TR 2,00,000 T Ee
IR ARl 0-4 M2 1,00,000 TF FAIFHH
TN IR 0-6 1 (96T ST 2o 2
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7.

(a)

(b)

(@)

(b)

Write the probability density function
of a normal distribution. Under what
conditions a binomial distribution tends
to a normal distribution ? 3+2=5
Sy 3967 GBIF SIfel FEmee! fora
(FNER TOAATE 61 fasm ITF ey
I SR =2

If 5% of electric bulbs manufactured
by a company are defective, find the
probability that in a sample of 100

‘bulbs (i) 3 bulbs will be defective and

(i) none will be defective.
(Given e =0-007)

5
T @5t @RI Beoi 311 R ifer
505 HIE W, (PR 100 B Regnaife
ot afere GBTS (1) 301 Toye Repife 4,
@i (i) e FHTE R wams et
Sifg a1 | (Fral WITR €5 = 0-007)

What is time series ? Explain various
components of time series. 6

e B2 e Rfew Taaw I
sl

Calculate Fisher’s price index number
from the data given below : 4

weie faal AR SRl PR [T IPIRE A
-l ,
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Commodity Price per unit

Quantities
®) (Quintal)

e g () AR (FX0)

moOOQwW>

9. (g

(b)

10. (a)

(b)

2015 2020 2015 2020

-6 10 50 56
2 2 100 120
4 6 60 60
10 12 30 24
8 1 40 36

What is estimator ? Write the
characteristics of a good estimator.
2+4=6

ST [ e GBI Sl S (ISP vt |

Explain null hypothesis and alternative
hypothesis. 4

e o o Rew s I F1|

Write the definitions of arithmetic
mean, median and mode. Mention one
use of each of these three measures.

6

AR WG, N S I @l 71| @2
TS5 wiolr 2B BitE IRTT Trad |

Given below the mean, median and
standard deviation of two distributions.

Determine which distribution is more
skewed. 4
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11. (a)

(b)

55T FB1 9B e, TNl e AT Rowwa
I il IR | PRGB! 3% @R wefes Refw
sl |
(i) Mean (W) = 22

Median (&™) = 24

Standard deviation (24 ReeW) = 10
(i) Mean (V) = 22

Median (F3) = 25

Standard deviation (2{dF [eeW) = 12

What is cost of living index number ?
Discuss the importance of cost of living
index number. 5

S iz I8 PIE [Fe G iz I
T Y S |

A can hit a target thrice in S shots, B
twice in 5 shots and C thrice in 4 shots.
They fire a volley. What is the

probability that A and B can hit the
target and C cannot hit ? 5

A @ GBI THFREF 5 IR 3@ 3 ], B 4
5 q/eY o9 2 I W C @ 4 INF fooIe
R STAE WS FRI AAE | (OSEIF
JECBIET GG | A S B @ IGOIT AN
TR 9 % C 9 TEHIT TS BRI (RIS
eifdet e e
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OPTION-B
Paper : COM-HG-3026
(Operation Research in Business)

Full Marks : 80
Ti-me . Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer Question Nos. 1, 2, 3 and any four
from the rest.

1, 2, 3 7 o7 Gaq FRA IF IF LARTT 2N
Reelct sifHeT Ges i

Answer either in English or in Assamese.
1. Answer the following as directed :

1x10=10
woe AR Fomiga Ses Wt

(@ What is network ?
ReaF T R2

(b) What is event ?
oAl M e

(c) What is PERT ?
o5 A e
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(d) What is CPM ?

CPM Wi 2

(e) The word inventory means
TGS AN AT & @ .

() Write one benefit of controlling
inventory.

e A TR T 95 TR Tl |

(g) Write on€ limitation of EOQ.
Rroa T AR GB1 izt fevar |

(h) The set of feasible solutions to an LPP
is a set.
gl (AP SEAIN (O] TAGTS AL
2SI 2fS T9|

(i) What is adjacent activity ?
it S FTera W e

() What is ABC analysis ?
ABC Rrsae e e

2. Answer the following in short : 2x5=10

e TaaRs 5 Tl o ¢

(@) What is the difference between ABC
analysis and VED analysis ?

ABC Rord wi% VED Reageg Tere AN
&2

4 (Sem-3/CBCS) HG1/HG2/G 13




3.

(b)

(c)
| Wﬂmﬁm%ﬁwﬁmwﬁmmw

(@)

(e)

Answer any four questions :

What is graphical method ?
iRT oS T &2

Define EOQ in inventory control.

foran

When do we replace an item ?

4t 7@ o R w4 2

What is shortage cost ?

b 435 W Re

5x4=20

Ree1zant 5ifdbr e weg forat ¢

(@)

Write the conept of linear programming.

@R elerwer SRR Bl
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(b)

()

(@)

(e)

Item No.
R® IR

Annual Usage: 75 37 14 36 32 38

(in 000 Rs.)
T b

Solve graphically the linear
programming problem (LPP) :

@R TET TG GRS med RIS
AL < 8

Maximize Z =2x; +3x,

subject to (56 FATE)

-x; +2x, <4
X +X26

X +3x,<9
xl,x220'

Explain different types of replacement
models.

Rfon «RF TN I TRIRR I =00

Discuss various costs involved in
inventory models.

g AN IR RS I<53 SceTv~ 3401
Group the items given below into an

ABC classification :
ABC @T< 32T ©iol wete Al =g Wi ABC

@Fre Fefa 0 ¢
3 4 2 1 7 8 6 5 9 10

16 11 95 4
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(c)‘_ i) Construct a network diagram and

find the EST and LST for the
- following data :

oY ©YRAT “i9 @BeTF R [Nefy sR{
EST Wi LST Sfersd ¢

(d) Explain briefly the replacement of itelrns
whose maintenance cost increases with
time and the value of money also
changes with time.

2@ R I I GRS TR TN T

Job  Description Successor  Time in el I W W 1 T g TS T
Activity minutes ACECH T A
R fosq Afem  faiNGe
S  Start A 0 (e) Write short notes on :
s ‘ 59 Gt ol ¢
A Proceeding letter B 4
S URERY (i) Nature and characteristic of O.R.
P - Dicating ktte D 3 OR. T (bR W% Rl et
i a1
e Order execution E 7 (i) The carrying cost or storage cost
o O 476 A T I®
D Supervision E 6
e (f) What are the costs associated with
F Dispatchine inventory '? Distinguish between
p:g;;ng F 2 deterministic and stochastic model in
o inventory theorem. 4+6=10
F Finish None 0
R | TGS A TS (IR oY RS T
(i) Write the benefits of replacement e i A
~ problem. HERDR] sl forall |

T AT IR THADIER &2 |
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(g) Write an explanatory note on evolution
of operation research.

I [ Bige Redaw R =013 &
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